U1D3 - Area & Perimeter of Composite Figures
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UlD3 Warm Up:
Define perimeter. T)I S""UU\CC around

‘e ‘outside’ of an objcd

Define Area. ’ '
The space +he two -dimensiond/ sur‘Gc;Q
Perimeter and Area of Composite Figures COVESS.

Often complex shapes can be divided into simple shapes
to calculate perimeter and area.

Example 1. A circular swimming pool is to be bordered by

interlocking brick as shown in
e 21.5m

the diagram.
a) Determine the area to be covered
by interlocking brick.

Y
A = fw-mr*
= (a1.5)(13.8)- ()

= M6434.
= a46.4

C dhe afea 15 246.4 "

13.8 m
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b) If the bricks are sold by the skid, and each skid has
enough bricks to cover 9 m?, how many skids must be
purchased?

A%L.YW =9a
= A7.27
= buwp wp FO Q8.

we would ‘Ou\) 2% %\’-id\S
oC bricks.

Example 2. Calculate the area of the shaded region.

a)

b= A A,

= W — oh

=
=r(u)_ W)
2

= 3Y4. 26S.. .
= 34 3aom™
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19 mm

: - bh
@ A parallel agram -
b)

bh — bh 6
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Example 3. A restaurant is building an outdoor patio in the
shape of the diagram below. The patio area will be
made of interlocking paving stones with different
stones along the border. The paving stones cost
$52.95/m?. The border stones cost $15.50/m.
How much will the materials for the patio cost,
including 13% taxes? Allow an additional 10% to
account for stones that must be cut for the design.

Step 1: Calculate the unknown outside measurements.
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Step 2: Calculate the total perimeter and add
an additional 10%.

P=346+5+064+a4+5

= 34.% $ind

L 110%
= .3 xl. l
TD'Ia, =—33L‘.8 3. Cor*ls"nal |°D

Step 3: Identify the simple shapes that make up the area.
Calculate the area of each shape.

A=A+ A+ A +A,

= %+£w+@\,+ﬁ
2 2 2

o/° P\g} ‘070>

Step 4: Calculate the total area and add 10% for waste.

A= 3“'\ L0+ 6 5(4\ y T (3)°

b3 2
= G+od+ 0+ 4.13...
= 54.\
Total = BH.| XI1I10%
= 94| % .1

( . 2
. 1$ 59.5
=545\ cooTea s "
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Step 5: Calculate the total cost before taxes.
Px\15.50 + A% 52.95

Cost = 38.2%1550+ 54.5X3343

= 344,179

=RF2T1u4.18
Step 6: Calcujfgte the total cost including taxes.

Totel Cost = 3THUAB XI.ID
= 4230.92

ik wowld cost B4H230.92.
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Example 4: Calculate the f the shaded region.

Round your answer to one decimal place.
da N

C=1mr
= (1.5)
=36.\

c=1r
o +%(5.9)

=173

W)=
@21

&
< r <

23m

/I/O‘ka\ e cmeler = 361 +6 + 7.3+ 6
= 65 .4m
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